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1 MHBT - MHBTL
: SKH51 61 ~ 64HRC Dm5
MPBT - MPBTL
€D 1K/ N1 3R 64 ~ 67HRC Dm5
KBBT
SKH51 61~ 64HRC CREAD4 ~ 6 Dm5
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8 9 MBBT 6 . 1.80 ~ 5.99 1.20
11 MHBT 8 (0.1mm Bft) 210 ~ 7.99 1.50
13 MPBT 10 3.00 ~ 9.99 2.50
7 —FEnOs g — 4 1.60 ~ 3.99 1.00
8 (Dm5) 5 50.0 ~ 80.0 1.80 ~ 4.99 1.20 ) )
15 9 MBBTL 6 1.80 ~ 5.99 1.20 F=L-—2 0 <K<90
1 MHBTL P (0.1mm E4ir) 210 ~ 7.99 1.50
13 MPBTL 10 3.00 ~ 9.99 2.50
7 ] 4 2.00 ~ 3.99 1.00
8 _”%’(5_ ")#‘77_ 5 2.00 ~ 4.99 2.00
8 9 IEB":T 6 | 40 50 60 70 80 2.00 ~ 5.99 2.00
11 KPBT 8 3.00 ~ 7.99 3.00
13 10 3.00 ~ 9.99 3.00
O:Vv—P=03
O:B=(L—F)+ {(V—P)2tanK} +2
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